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QUESTION 1

A customer needs to streamline monitoring to its HPE Apollo 6000 solution.

Which benefit can HPE Advanced Power Management (APM) provide to this customer?
A. It discovers and inventories XL servers installed in the HPE Apollo chassis.

B. It monitors the utilization of resources such as CPU and memory.

C. It enables HPE OneView to automatically discover and map the chassis and its servers.
D. It audits the firmware on XL servers installed in the HPE Apollo chassis.

Correct Answer: A

QUESTION 2

An architect reviews an HPE Apollo 6000 design and finds that there are plans for redundant iLO connections on each
HPE Apollo 6000 chassis to a pair of top-of-rack switches. These switches are set up as individual switches connected
to a single core.

Which configuration change should the architect recommend to ensure a loop free management topology?

A. Remove one iLO connection from each HPE Apollo 6000 chassis.

B. Configure MAD between the top-of-rack switches.

C. Replace the top-of-rack switches with HPE Advanced Power Management Kits.

D. Configure IRF between the top-of-rack switches.

Correct Answer: D

QUESTION 3

A proposed solution includes the HPE Moonshot-4QSFP+ Uplink Modules. The customer informs the architect that the
planned purchase of 40GbE switches has been postponed. The customer still intends to purchase 40GbE switches
within a year, but in the meantime, existing 10GbE switches will be used. These switches are HPE network switches
located 25 meters from the location of the racks that house the HPE Moonshot Solution. The customer needs 30Gb/s
bandwidth.

Which action should the architect recommend to allow the customer to deploy the solution immediately and easily take
advantage of 40GbE when deployed later?

A. Swap in HPE Moonshot-16SFP+ Uplink Modules
B. Replace the QSFP+ transceivers with SFP+ transceivers

C. Add QSP+/SFP+ adaptor kits to the design
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D. Replace the DAC cables with DAC splitter cables

Correct Answer: C

QUESTION 4
An architect is planning an HPE Integrity Superdome X solution with the following nPartitions:

nPar 1= Slots 1, 3, and 5 nPar 2 = Slots 2, 4, and 6 The Superdome X solution must connect to a Fibre Channel SAN
solution, which provides boot disks for the Superdome X solution.

The architect has selected a FlexibleLOM adapter for each blade. What is a valid plan for additional adapters?
A. one 2-port FC HBA for slot 1

B. one 2-port FC HBA each for slot 1, slot 3, and slot 5

C. one 2-port FC HBA each for slot 1 and slot 2

D. one 2-port FC HBA each for slot 2, slot 4, and slot 6

Correct Answer: D

QUESTION 5

What defines lease rate factor (LRF)?

A. the sum of all costs incurred

B. the periodic rental payment, expressed as a percentage of equipment cost

C. the cost of the direct capital expenditure, divided by the expected lifespan of the equipment
D. the expected time to recover the initial investment

Correct Answer: B
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